TECNONUTO

ASESORAMIENTO Y SERVICI

DWHG258! 88 /% # [A) [i®)

DWHG25 SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

(@
Q
—~
Q
(@]
(0)e]
=
()
N
(=]
N
N

DWHG25 Z B ki iRl A B miRF A SEHIEE®  DWHG25 series are solenoid pilot operated spool type valves . This series
BEiE, BFERRREIRIRES E. are used to control the start ,stop and direction of flow.

S FAE¥ Technical data

iBfF Size 25
& L{EES] P A B(MPa) Max operating pressure P.A.B(MPa) 35
$=H5H9MEE Externally drained 25

TH(MPa) T Port (MPa) 7 (AC)-10

EHIJHAHE Internally drained B5% (DC)-16

3 (AC)-10

YH(MPa) Y Port (MPa) &8RSN Externally drained 5% (DC)-16

B/MEHIES (MPa) Min. Pilot pressure(MPa) 0.45-1
wAME(L/min) Max. flow rate(L/min) 650
E=Z(F5=) Weight(KGS) 18

BE () RmaE

A b3 ti hosphati rf;
Valve body (Material) Surfa cetreatment A TR A S G (LI S

NAS1638 94k#1S0440620/18/15%%
NAS1638 class 9 and 1SO4406 class 20/18/15

SHREEE/OI Icleanliness

HIDRAULICA - NEUMATICA - ELECTRONICA www.tecnoautomat.com
(© 1135852811 <@ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Landus Bs.As.



TECNOAUTO!

ASESORAMIENTO Y SERVICI

O Fifhsk: 4ADWHG25... 2 (£ HLP46 , #=40°C+5°CHTNITZ
Characteristic curves: Type4 DWHG25... (measured with HLP46, Voil=40°C+5°C)

5 A p-quiEEERREE Characteristic curves a 7 & & Flowin (L/min)  —»
// // / 4 HEETS 1]3afi B Spool position
Spool symbo
” / v b S P-A [ P-B | AT | BT
_ 1 p. /| ,A o~ 2 E 1 1 1 3
£ / / / 7 & @l F 1 4 3 3
S s / g 1
t 3 V. // L~ // . 3 » " 4
o 3 / o P / ot H 4 4 3 "
T o Vg L~ L
=l
;(-1; 2 4 VA L~ /‘/ J 2 2 3 5
=
2 -
/ *ﬂ-ﬁEﬁE‘ mm{ﬁﬂ Spool position
Spool symbol
0 P-A | P-B A-T B-T
0 100 200 ao0 400 500 600 650 " " " 5 o
THBEFFS G Spool symbol G M 4 4 1 4
AP -T Central position P - T B 4 ; - 5
SHIEEFS T  Spool symbol T
i} it R 2 1 1 =
P -T Central position P - T

=
o

|
e
1
E
=

1
=

HBERF S Spoolsymbols L b
0 el = SP Yy -‘FE e n

P T PTT

B A B
"’"la b - s/ --’--1-- N/

' b ho

DWHG A B _,

el 1 Py e i

P

E E A B
zﬂ:z]jm ol 0 [ b faq s

FE T PT

DWHG
B T

i B A B
ool e AL 10 [ g
P T

P T
T T ] T
A
XiHEET ] X« N .a
I I I I
EEE T "
ﬂm sl
P T
o MEEELEE
DWHG o —
HSHX LIS
T YXHEE XEL -«
) e XNHO0 XHO
XEETa] X NG XEL -
A MERE

bdi=lialill .
E;’:J. J.:J. J.:lfll ” E; Ll

HIDRAULICA - NEUMATICA - ELECTRONICA | Www.tecnoautomat.com
(O 1135852811 <@ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.

s

=




220z a2ndojeied

C ERIERMSIMERARES SMFRYIRPA Pilot fluid supply

4ADWHG25%!

1. AHSIMIRER: FTmE, ¥ LEMeiE
§TLOME, KT M6 1257 2 A,

2. MHESSMEE . BERNLET FLAEIM 6
BT 2 IR N AARHEE, E BTSN

AREI AMBRIVERRE X OEE,
ARSI RR £ Y 3T,

HIDRAULICA - NEUMATICA - ELECTRONICA
(O 1135852811 <@ 114241 1370. 1142254987

Main valve DWHG25 EMEHEHE
DWHG25 explanation partial drawing

3. 4DWHG25

(1) Internal pilot and external pilot: Removing
the sideward cover,installing M6 screw 1 is
external pilot,unscrew the M6 screw 2 is
internal pilot. (2) Internal drain and external
drain: Removing the M6 screw 2 in the "T"port
on the top of main valve is internal drain,
installing the M6 screw 2 is external drain.

NOTE : 1.The "X" port on the base plate must
be plugged if internal pilot.

2.The "Y" port on the base plate must
be plugged if internal drain.

www.techoautomat.com
Direccién Rio de Janeiro 2740 Lanus Bs.As.

TECNONUTONY

ASESORAMIENTO Y SERVICI

s



TECNOANUTO

ASESORAMIENTO Y SERVICI

(C 4ADWHG254MEY R~ 4DWHG25  Overall Dimensions

o) 1)
= I
= | 2 =
im)
il
i 717 " S
o~
X A B

126

302

130
53 6- 142 Pylome

7 v 7 Y7 o N
R i e D Ta RV
~ _‘@L\ - D Y
. -
I3 X9}
I 2@ S
: —I- g5t
V.38 ] i \ Ty ; v/ \
=13 : ]
0 Y N7 SO O |
N\ X Az =
&) = it
= Y N
77
151
{3 B E SR ET Valve's set screw
6 NM12X60GB/T 70.1-12.94% T EH%EMa=130Nm 6 of M12x60GB/T70.1-12.9 Tightening torque Ma=130Nm.
AB.P.T O 0EE: ¢ 34X3.1 O-ring for P.T.A.B Port: ¢34x3.1
X.Y O 0BE: & 25X3.1 O-ring for X.Y Port: 25x3.1
HIDRAULICA - NEUMATICA - ELECTRONICA www.tecnoautomat.com

(O 1135852811 <@ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.




»

TECNOAUTO!
ASESORAMIENTO Y SERVICI
O EIRLEERT Installation dimensions
168
130 -~
12.5
18 100.6
76.8
53
29.2 6-M12/25
o i
5
o
[0)e}
<
[¢]
| O
3 ; AEE
N 0| -
@ 1 0
[
!
5.6
4DWHG25| E [60/* [pc2d N[ = v+ [zsL| = [ = [ = [~ |
B 035 BR
For further details
T = THEIRER
& 25 V= AR
Size 25 Noc ode=NBfj seals
B RNEERT S FATIT = FEFAER
See the function symbol P4.5= % EIR; FEES 0.45MPa
of spool valve No code=Without preload valve
= =10-3Z2=H1T ) P4.5=With preload valve
Series 60=Size 16-32 cracking pressure is 0.45MPa
O= SHIEH (13K i P OB )
OF= i HE, HE g Sl e
SHERIE, TES B0.8=T#7L120.8B 10=3A7LZE1.0
—I2x7 1 —3i2s7 1%
o cedetinorng R T
O=Without spring return
OF=Without spring return,with detent B0.8=Throttle orifice size 0.8
/£ Voltage B10=Throttle orifice size 1.0
DC12:DC24 :AC110:AC220 B12=Throttle or?f?ce size 1.2
B15=Throttle orifice size 1.5
N= BEREIK = s
= Z5L= TR HAEk
N=With concealed manual override ER=E@EEHEX
Z5L = Large quadrate plug with light
Fo=IMEIMIER E=PRftIMHER ER=Deutsch Connector
—q{t U T=4NMH i) s N
No code=Externally pilot, externally drained S=HARE MO S2=H SR KO3
E=Internally pilot, externally drained No code=Without pilot adjustment
ET=Internally pilot, internally drained S=With meter-in pilot adjustment
T=Externally pilot, internally drained S2=With meter-out pilot adjustment
HIDRAULICA - NEUMATICA - ELECTRONICA www.tecnoautomat.com

(O 1135852811 <@ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.



